
 

CHAPTER-7 

INTEGRALS 

01 MARK TYPE QUESTIONS 
Q. NO QUESTION MARK 

1.  ∫ 𝑡𝑎𝑛−1√𝑥 dx is equal to  

 

a)( x+1)𝑡𝑎𝑛−1√𝑥 −√𝑥 + C      (b) x 𝑡𝑎𝑛−1√𝑥 −√𝑥 + C        (c) √𝑥 − x 𝑡𝑎𝑛−1√𝑥 + C       

 (d) ) √𝑥  − ( x+1)𝑡𝑎𝑛−1√𝑥 + C 
 

1 

2.  
∫

𝜋

4

−
𝜋

4

𝑠𝑒𝑐2𝑥 𝑑𝑥  is equal to  

a)-1            (b) 0                (c) 1             (d) 2 
 

1 

3.  ∫
𝑒𝑥 ( 1+𝑥 )

𝑐𝑜𝑠2 ( 𝑥𝑒𝑥)
 dx is equal to  

a)tan (𝑥𝑒𝑥) + C      (b) cot (𝑥𝑒𝑥) + C       (c) cot (𝑒𝑥) + C    (d) tan  [ 𝑒𝑥 ( 1+ x ) ] + C 
 

1 

4.  ∫
𝑑𝑥

𝑠𝑖𝑛2𝑥𝑐𝑜𝑠2𝑥
 is equal  to  

a)tanx + cotx + C     (b) (𝑡𝑎𝑛 𝑡𝑎𝑛 𝑥 + 𝑐𝑜𝑡𝑥 ) 2+ C     (c) tanx − cotx + C        (d) (𝑡𝑎𝑛 𝑡𝑎𝑛 𝑥 −
𝑐𝑜𝑡𝑥 ) 2+ C   

1 

5.  If  ∫
3𝑒𝑥−5𝑒−𝑥

4𝑒𝑥+ 5𝑒−𝑥 dx  = ax + b log |4𝑒𝑥 + 5 𝑒−𝑥| + C  , then  

a)a = 
−1

8
 , b = 

7

8
         (b) a = 

1

8
 , b = 

7

8
         (c) a = 

−1

8
 , b = 

−7

8
         (d) a = 

1

8
 , b = 

−7

8
    

1 

6.  
∫

𝜋

8
0

𝑡𝑎𝑛2( 2𝑥 ) dx is equal to  

a)
4−𝜋

8
        (b)

4+ 𝜋

8
       (c) 

4−𝜋

4
           (d) 

4−𝜋

2
         

 

1 

7.  ∫
1

−1

𝑥3 +|𝑥|+ 1

𝑥2+2|𝑥|+1 
 dx is equal to  

a)log2         (b) 2 log2      (c) 
1

2
 log2        (d) 4 log2 

 

1 

8.  ∫
2

−2
|𝑥 𝑐𝑜𝑠𝜋𝑥| dx is equal to  

a)
8

𝜋
     (b) 

4

𝜋
    ( c) 

2

𝜋
     (d) 

1

𝜋
     

 

1 

9.  
∫

𝜋

6
0

𝑠𝑒𝑐2 ( 𝑥 −
𝜋

6
 )dx is equal to  

a)
1

√3
      (b) −

1

√3
       (c) √3      (d) −√3 

 

1 

10.  If 
𝑑

𝑑𝑥
 [ f(x)] = ax + b  and f(0) = 0  , then f(x) is equal to  

a)a+b         (b) 
𝑎𝑥2

2
 + bx          (c) 

𝑎𝑥2

2
 + bx  +C    (d) b 

 

1 

11.  𝐼𝑓 𝐼 = ∫
𝑆𝑖𝑛2𝑥 −𝐶𝑜𝑠2𝑥

𝑆𝑖𝑛2𝑥 𝐶𝑜𝑠2𝑥
𝑑𝑥, 𝑡ℎ𝑒𝑛 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝐼 𝑤𝑖𝑙𝑙 𝑏𝑒. 

 
(a) tan x + cos x + c                           (b) tan 𝑥 + cosec x + c 
  
(c) tan x + cot x + c                            (d) tan x + sec x + c 

1 



 

 

12.   ∫
𝑑𝑥

1+cos 2𝑥
 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜, 

 

(𝑎) tan 𝑥 + 𝑐                                          (𝑏) 
1

2
tan 𝑥 + 𝑐 

(𝑐)2 tan 𝑥 + 𝑐                                        (𝑑) 𝑛𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑠𝑒 
  

1 

13.   ∫ |𝑥|
2

−2
𝑑𝑥 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙𝑠 𝑡𝑜, 

 
(𝑎) 0                  (𝑏)2                           (𝑐) 4                     (𝑑) 1  
 

1 

14.   
𝑑

𝑑𝑥
∫ 𝑓(𝑥) 𝑑𝑥 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙𝑠 𝑡𝑜, 

 
(𝑎) 𝑓′(𝑥)           (𝑏) 𝑓(𝑥)        (𝑐) 𝑓(𝑥′)       (𝑑) 𝑓′(𝑥′) 
 

1 

15.  
 𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 ∫

√tan 𝑥

√tan 𝑥+√cot 𝑥

𝜋

2
0

𝑑𝑥 

 

(𝑎) 
𝜋

2
                   (𝑏)

𝜋

4
                   (𝑐) 

𝜋

8
             (𝑑)

𝜋

12
  

 

1 

16.   𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 ∫ (
1+log 𝑥

𝑥
)

𝑒

1
𝑑𝑥 

 

(𝑎) 
3

2
                          (𝑏)

1

2
                  (𝑐) 𝑒               (𝑑)

1

𝑒
 

 

1 

17.  
𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 ∫ 𝑠𝑖𝑛9𝑥

𝜋
2

–
𝜋
2

𝑑𝑥 

 
(𝑎) 0                  (𝑏)1                  (𝑐) − 1                (𝑑) 2  
 

1 

18.  Value of ∫ (
x

1+x
)

1

0
dx is 

 
(𝑎)1 − log 2                                       (𝑏) log 2 − 1 
(𝑐)1 + log 2                                         (𝑑) log 2 
 

1 

19.   

Assertion (A): ∫
𝑑𝑥

𝑥2+2𝑥+3
=

1

√2
tan−1 (

𝑥+1

2
) + 𝑐 

Reason (R): ∫
𝑑𝑥

𝑥2+𝑎2 =
1

𝑎
tan−1 (

𝑥

𝑎
) + 𝑐 

• (a) Both A and R are true and R is correct explanation of A 
(b) Both A and R are true but R is NOT the correct explanation of A 
(c) A is true but R is false 
(d) A is false and R is True 
 

1 

20.  Assertion (A): ∫ex[sin x + cos x]dx = ex sin x + c 

Reason (R): ∫ex [f(x) +f′(x)]dx = ex f(x) + c 
•  

1 



 

• (a) Both A and R are true and R is correct explanation of A 
(b) Both A and R are true but R is NOT the correct explanation of A 
(c) A is true but R is false 

(d) A is false and R is True 

 

21.  If 
𝑑

𝑑𝑥
(𝑓(𝑥)) = 5𝑥4 −

4

𝑥5
 𝑠𝑢𝑐ℎ 𝑡ℎ𝑎𝑡 𝑓(2) = 0. Then 𝑓(𝑥) is  

(a) 𝑥5 +  
1

𝑥4 −  
129

8
 

(b) 𝑥5 +  
1

𝑥4
+  

129

8
 

(c) 𝑥5 +  
1

𝑥4 −  
513

16
 

𝑥5 +  
1

𝑥4
+  

513

16
 

1 

22.  ∫
1

𝑠𝑖𝑛2𝑥𝑐𝑜𝑠2𝑥
𝑑𝑥 equals 

(a) tanx + cotx +C 

(b) tanx - cotx +C 

(c) tanx cotx +C 

(d) tanx – cot2x +C 

 

  

1 

23.  ∫
1

𝑥(𝑥3 +1)
𝑑𝑥 equals 

(a) 
1

3
𝑙𝑜𝑔 𝑙𝑜𝑔 |

𝑥3

𝑥3−1
| + 𝐶  

(b) 
1

3
𝑙𝑜𝑔 𝑙𝑜𝑔 |

𝑥3+1

𝑥3 | + 𝐶  

(c) 
1

3
𝑙𝑜𝑔 𝑙𝑜𝑔 |

𝑥3

𝑥3+1
| + 𝐶  

(d) 
1

3
𝑙𝑜𝑔 𝑙𝑜𝑔 |

𝑥3−1

𝑥3 | + 𝐶  

 

 

1 

24.  
∫

5𝑥4+ 5𝑥5 1

𝑥5+ 5𝑥 𝑑𝑥 equals 

(a) 5𝑥 − 𝑥5 + 𝐶 

(b) 5𝑥 + 𝑥5 + 𝐶 

(c) (5𝑥 − 𝑥5)
−1

+ 𝐶 

(d) 𝑙𝑜𝑔 (5𝑥 + 𝑥5) + 𝐶 

 

1 

25.  
∫ 𝑒𝑥 𝑠𝑒𝑐 𝑠𝑒𝑐 𝑥(1 + 𝑡𝑎𝑛𝑥)𝑑𝑥 𝑒𝑞𝑢𝑎𝑙𝑠 

(a) 𝑒𝑥𝑐𝑜𝑠𝑥 + 𝐶 

(b) 𝑒𝑥𝑠𝑒𝑐𝑥 + 𝐶 

(c) 𝑒𝑥𝑠𝑖𝑛𝑥 + 𝐶 

(d) 𝑒𝑥𝑡𝑎𝑛𝑥 + 𝐶 

1 

26.  
∫

𝑐𝑜𝑠2𝑥 − 𝑐𝑜𝑠2𝜃

𝑐𝑜𝑠𝑥 − 𝑐𝑜𝑠𝜃
𝑑𝑥 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

(a) 2(𝑠𝑖𝑛𝑥 + 𝑥𝑐𝑜𝑠𝜃) + 𝐶  

1 



 

(b) 2(𝑠𝑖𝑛𝑥 − 𝑥𝑐𝑜𝑠𝜃) + 𝐶  

(c) 2(𝑠𝑖𝑛𝑥 + 2𝑥𝑐𝑜𝑠𝜃) + 𝐶  

(d) 2(𝑠𝑖𝑛𝑥 − 2𝑥𝑐𝑜𝑠𝜃) + 𝐶  

27.  ∫
2/3

0

1

4+9𝑥2
𝑑𝑥 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 

(a) 
𝜋

6
 

(b) 
𝜋

12
 

(c) 
𝜋

24
 

(d) 
𝜋

4
 

 

1 

28.  ∫
1

−1

|𝑥−2|

𝑥−2
𝑑𝑥, 𝑥 ≠ 2 is equal to  

(a) 1 

(b) -1 

(c) 2 

(d) -2 

1 

29.  
𝑇ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑖𝑛𝑡𝑒𝑔𝑟𝑎𝑙 ∫

𝜋
2

0

𝑙𝑜𝑔 𝑙𝑜𝑔 (
4 + 3𝑠𝑖𝑛𝑥

4 + 3𝑐𝑜𝑠𝑥
) 𝑑𝑥 𝑖𝑠   

(a) 2 

(b) ¾ 

(c) 0 

(d) -2 

1 

30.  
∫

𝑏+𝑐

𝑎+𝑐

𝑓(𝑥)𝑑𝑥 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜  

(a) ∫
𝑏

𝑎
𝑓(𝑥 − 𝑐)𝑑𝑥 

(b) ∫
𝑏

𝑎
𝑓(𝑥 + 𝑐)𝑑𝑥 

(c) ∫
𝑏

𝑎
𝑓(𝑥)𝑑𝑥 

(d) ∫
𝑏−𝑐

𝑎−𝑐
𝑓(𝑥)𝑑𝑥 

1 

31.  Anti derivative of 𝑠𝑖𝑛 𝑠𝑖𝑛 (𝑎𝑥 + 𝑏)  is  

(a) 𝑐𝑜𝑠 𝑐𝑜𝑠 (𝑎𝑥 + 𝑏) + 𝑐  (b) 𝑎 𝑐𝑜𝑠 𝑐𝑜𝑠 (𝑎𝑥 + 𝑏) + 𝑐   (c) −
𝑐𝑜𝑠𝑐𝑜𝑠 (𝑎𝑥+𝑏) 

𝑎
+ 𝑐  

(d) −
𝑐𝑜𝑠𝑐𝑜𝑠 (𝑎𝑥+𝑏) 

𝑏
+ 𝑐 

1 

32.  
∫ 𝑒2𝑥 𝑑𝑥 = 

(𝑎)𝑒𝑥 + 𝑐  (b) 
𝑒2𝑥 

2 
+ 𝑐 (c) 𝑥2 + 𝑐 (d) 

𝑥3

3
+ 𝑐 

 

1 

33.  
∫ 𝑐𝑜𝑠 𝑐𝑜𝑠 

7𝜋

6
)𝑑𝑥 =   

(a)
7𝜋

6
𝑥 + 𝑐  (b) 

5𝜋

6
𝑥 + 𝑐  (c) 

𝜋

6
𝑥 + 𝑐 (d) 

𝜋

3
𝑥 + 𝑐 

 

1 

34.  
∫ 𝑒(𝑠𝑖𝑛𝑥)2

𝑠𝑖𝑛2𝑥𝑑𝑥 = 
1 



 

(𝑎)(𝑠𝑖𝑛 𝑠𝑖𝑛 𝑥 )2 + 𝑐 (b) 𝑒(𝑐𝑜𝑠𝑥)2
+ 𝑐  (c) 𝑒(𝑠𝑖𝑛𝑥)2

+ 𝑐 (d) none of these 

 
35.   

∫
2𝜋

0

𝑒𝑠𝑖𝑛𝑥

𝑒𝑠𝑖𝑛𝑥 + 𝑒−𝑠𝑖𝑛𝑥
𝑑𝑥 = 

(a)0   (b) 𝜋  (iii) 2𝜋  (iv) 
𝜋

2
 

 

1 

36.  
∫

𝜋
4

−𝜋
4

𝑥3(𝑠𝑖𝑛𝑥)4𝑑𝑥 = 

(𝑎)0   (b) 1  (c) 
𝜋

4
   (d) 

𝜋

2
 

 

1 

37.  
∫ 𝑒𝑥 (

1

𝑥
−

1

𝑥2) 𝑑𝑥 

(a) 𝑒𝑥 + 𝑐   (b) 
𝑒𝑥

𝑥
+ 𝑐   (c) 

𝑒𝑥

𝑥2 + 𝑐 (d) none of these 

 

1 

38.  
∫ (𝑒𝑥 + 1)2𝑒𝑥𝑑𝑥 

     (a) 𝑒𝑥 + 1 + 𝑐  (b) (𝑒𝑥 + 1)2 + 𝑐 (c) 
(𝑒𝑥+1)3

3
+ 𝑐 (d) 𝑒2𝑥 + 𝑐 

 

1 

39.   ∫
3

0
[𝑥]𝑑𝑥 =, where [𝑥] means the greatest integer less than or equal to 𝑥. 

      (a) 0 (b) 3 (c) 2 (d) 1 

 

1 

40.  
∫ 𝑥𝑑(𝑥2 + 2) 

(a) 
𝑥2

2
+ 𝑐 (b) 𝑥 + 𝑐 (c) 

2𝑥3

3
+ 𝑐 (d) 

𝑥4

4
+ 𝑐 

1 

41.  ∫ 2𝑥3𝑥𝑑𝑥 is equal to 

(a)
2𝑥

𝑙𝑛2
+ 𝐶   (b) 

3𝑥

𝑙𝑛3
+ 𝐶        (c) 

2𝑥3𝑥

𝑙𝑛2 𝑙𝑛3
+ 𝐶   (d) 

6𝑥

𝑙𝑛6
+ 𝐶 

1 

42.  If ∫
√𝑐𝑜𝑡𝑥

𝑠𝑖𝑛𝑥 𝑐𝑜𝑠𝑥
𝑑𝑥 = 𝐴√𝑐𝑜𝑡𝑥 + 𝐾, then the value of A is __ 

(a)2                 (b) 1                   (c) -2                   (d) -1 

  

1 

43.  The anti – derivative of ∫
𝑠𝑖𝑛2𝑥

𝑐𝑜𝑠4𝑥
𝑑𝑥is 

(a) a polynomial of degree 5 in 𝑠𝑖𝑛𝑥  
(b) a polynomial of degree 4 in 𝑡𝑎𝑛𝑥 

(c) a polynomial of degree 5 in 𝑡𝑎𝑛𝑥 

(d) a polynomial of degree x in 𝑐𝑜𝑠𝑥 

1 

44.  ∫
𝑥9

(4𝑥2+1)6 𝑑𝑥 is equal to 

(a)
1

5𝑥
(4 +

1

𝑥2)
−5

+ 𝐶   (c)
1

5
(4 +

1

𝑥2)
−5

+ 𝐶 

(b)
1

10
(4 +

1

𝑥
)

−5

+ 𝐶  (d)
1

10
(4 +

1

𝑥2)
−5

+ 𝐶 

 

1 

45.  ∫
𝑑𝑥

𝑥(𝑥𝑛−1)
  is equal to 1 



 

(a) 
1

𝑛
𝑙𝑜𝑔 |1 −

1

𝑥𝑛| + 𝐶   (c) 
1

𝑛
𝑙𝑜𝑔 |

𝑥𝑛

𝑥𝑛−1
| + 𝐶 

(b) 
1

𝑥𝑛
𝑙𝑜𝑔 |

𝑥𝑛

𝑥𝑛−1
| + 𝐶   (d)

1

𝑥𝑛
𝑙𝑜𝑔 |

𝑥𝑛−1

𝑥𝑛
| + 𝐶 

 

46.  ∫
3𝑒𝑥−5𝑒𝑥

4𝑒𝑥+5𝑒𝑥
𝑑𝑥 = 𝑃𝑥 + 𝑄𝑙𝑜𝑔|4𝑒𝑥 + 5𝑒𝑥| + 𝐶𝑜𝑛𝑠𝑡𝑎𝑛𝑡, then 

(a)P=
−1

8
, 𝑄 =

−7

8
   (c) P=

1

8
, 𝑄 =

7

8
 

(b) P=
−1

8
, 𝑄 =

7

8
(d) P=

1

8
, 𝑄 =

−7

8
 

1 

47.  The value of ∫ |1 − 𝑥2|
3

−2
𝑑𝑥is 

(a)
1

3
   (b)

14

3
               (c) 

7

3
                    (d) 

28

3
 

1 

48.  If ∫ 𝑥𝑓(𝑠𝑖𝑛𝑥)𝑑𝑥 = 𝐴 ∫ 𝑓(𝑠𝑖𝑛𝑥)𝑑𝑥,
𝜋
2

0

𝜋

0
 then A is 

(a)2𝜋   (b)𝜋(c)
𝜋

2
                 (d)0 

1 

49.  ∫ |𝑠𝑖𝑛𝑥|
𝜋

0
𝑑𝑥 is 

(a)2                  (b)2𝜋                     (c) 𝜋                (d) 0 

1 

50.  ∫ [𝑥2]
2

0
𝑑𝑥 is 

(a)2 – √2   (b) 2 – √2                (c) √2 − 1                                             (d) −√2 − √3 + 5 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

ANSWERS: 

Q. NO ANSWER MARKS 

1.  a)( x+1)𝑡𝑎𝑛−1√𝑥 −√𝑥 + C       

  let I = ∫ 𝑡𝑎𝑛−1√𝑥  dx   ,put √𝑥  = t , ⇒ 
1

2√𝑥
  dx = dt , ⇒dx = 2√𝑥 dt ⇒2t dt 

so, I = ∫ 𝑡𝑎𝑛−1𝑡 2𝑡 𝑑𝑡  

        = 𝑡𝑎𝑛−1𝑡 2
𝑡2

2
  − ∫

1

1+𝑡2
 . 2

𝑡2

2
dt  ( integrating by parts ) 

         =𝑡2 𝑡𝑎𝑛−1𝑡 − ∫
1

1+𝑡2 . 
𝑡2

dt  

         = 𝑡2 𝑡𝑎𝑛−1𝑡 – ∫
1+𝑡2−1

1+ 𝑡2  dt 

         = 𝑡2 𝑡𝑎𝑛−1𝑡 – ∫ (1 −
1

1+𝑡2
) dt 

          = 𝑡2 𝑡𝑎𝑛−1𝑡 – [ t - 𝑡𝑎𝑛−1𝑡 ]= 𝑡2 𝑡𝑎𝑛−1𝑡 -  t + 𝑡𝑎𝑛−1𝑡 = 𝑡𝑎𝑛−1𝑡 (𝑡2 +1 ) – t = ( x+1) 

𝑡𝑎𝑛−1√𝑥  – √𝑥  + C 
                                                                                              
 

1 

2.  (d) 2 

We have ∫
𝜋

4

−
𝜋

4

𝑠𝑒𝑐2𝑥 𝑑𝑥  = [𝑡𝑎𝑛𝑥]
−

𝜋

4

𝜋

4  = tan 
𝜋

4
 - tan ( - 

𝜋

4
 ) = 1 + 1 =2 

 

1 

3.  a)tan (𝑥𝑒𝑥) + C       

let I = ∫
𝑒𝑥 ( 1+𝑥 )

𝑐𝑜𝑠2 ( 𝑥𝑒𝑥)
 dx  , put 𝑥𝑒𝑥  = t  ⇒ (𝑥𝑒𝑥+ 𝑒𝑥 ) dx = dt  

                                                                ⇒ 𝑒𝑥  ( x+1 ) dx = dt    

So , I = ∫
𝑑𝑡

𝑐𝑜𝑠2𝑡
 = ∫ 𝑠𝑒𝑐2𝑡 dt = tant + C = tan (x𝑒𝑥  ) + C 

1 

4.  (c) tanx − cotx + C        

I = ∫
𝑑𝑥

𝑠𝑖𝑛2𝑥𝑐𝑜𝑠2𝑥
  = ∫

𝑠𝑖𝑛2𝑥+ 𝑐𝑜𝑠2𝑥

𝑠𝑖𝑛2𝑥𝑐𝑜𝑠2𝑥
dx = ∫ 𝑠𝑒𝑐2𝑥 dx + ∫ 𝑐𝑜𝑠𝑒𝑐2𝑥 dx = tanx 

− cotx + C          
 

1 

5.  a)a = 
−1

8
 , b = 

7

8
          1 

6.  a)
4−𝜋

8
       

∫
𝜋

8
0

𝑡𝑎𝑛2( 2𝑥 ) dx = ∫
𝜋

8
0

𝑠𝑒𝑐22𝑥 − 1  dx  =[
𝑡𝑎𝑛𝑡𝑎𝑛 2𝑥 

2
− 𝑥 ]0

𝜋

8   = 
𝑡𝑎𝑛

𝜋

4

2
 −

𝜋

8
 – 0 = 

1

2
 − 

𝜋

8
 = 

4−𝜋

8
       

 

1 

7.  (b) 2 log2       

I = ∫
1

−1

𝑥3 +|𝑥|+ 1

𝑥2+2|𝑥|+1 
 dx = ∫

1

−1

𝑥3

𝑥2+2|𝑥|+1
dx  + ∫

1

−1

|𝑥|+ 1

𝑥2+2|𝑥|+1
dx  

                                 = 0 + 2 ∫
1

0

|𝑥|+ 1

( |𝑥|+ 1 )2dx  [ odd function + even function ] 

                                  = 2 ∫
1

0

𝑥+1

( 𝑥+1 )2dx   

                                  = 2 ∫
1

0

1

𝑥+1
 dx   = 2 [ 𝑙𝑜𝑔 |𝑥 + 1|]0

1 = 2 log 2 

1 

8.  a)
8

𝜋
      

since I = ∫
2

−2
|𝑥 𝑐𝑜𝑠𝜋𝑥| dx = 2 ∫

2

0
|𝑥 𝑐𝑜𝑠𝜋𝑥| dx = 2 {  ∫

1

2
0

|𝑥 𝑐𝑜𝑠𝜋𝑥|dx  + 

1 



 

 ∫
3

2
1

2

|𝑥 𝑐𝑜𝑠𝜋𝑥|dx + ∫
2

3

2

|𝑥 𝑐𝑜𝑠𝜋𝑥|dx  }= 
8

𝜋
      

 

9.  a)
1

√3
       

∫
𝜋

6
0

𝑠𝑒𝑐2 ( 𝑥 −
𝜋

6
 )dx = [ 𝑡𝑎𝑛 𝑡𝑎𝑛 ( 𝑥 −  

𝜋

6
 ) 0

𝜋

6  = tan (
𝜋

6
  − 

𝜋

6
 ) −  tan ( 0 -− 

𝜋

6
 )  = tan 0 

–𝑡𝑎𝑛 𝑡𝑎𝑛 ( − 
𝜋

6
 )   = 0 + tan  

𝜋

6
 = 

1

√3
       

 

1 

10.  (b) 
𝑎𝑥2

2
 + bx          

Given ,  
𝑑

𝑑𝑥
 [ f(x)] = ax + b  and f(0) = 0    

On integrating both sides , we have  

           f(x) = ∫ (𝑎𝑥 + 𝑏  )dx = 
𝑎𝑥2

2
 + bx + C        

    ⇒  f(x)= 
𝑎𝑥2

2
 + bx + C       …… ( i)  

Also , f(0) =0 , we have from (i) f(0) = C  
    ⇒ 0 =C  

Putting in (i) , we have  f(x) = 
𝑎𝑥2

2
 + bx          

1 

11.  (c) 1 

12.  (𝑏) 1 

13.  (𝑐) 1 

14.  (𝑏) 1 

15.   (𝑏) 1 

16.  (𝑎) 1 

17.  (𝑎) 1 

18.  (𝑎) 1 

19.  (d) 1 

20.  (𝑎) 1 

21.  (c) 1 
22.  (b) 1 
23.  (c) 1 
24.  (d) 1 
25.  (b) 1 
26.  (a) 1 
27.  (c) 1 
28.  (b) 1 
29.  (c) 1 
30.  (b) 1 
31.    (c) 1 
32.    (d) 1 
33.    (b) 1 
34.    (c) 1 
35.    (b) 1 
36.    (a) 1 
37.    (b) 1 
38.    (c) 1 



 

39.    (b) 1 
40.    (c) 1 
41.  (d) 

6𝑥

𝑙𝑛6
+ 𝐶 1 

42.  (c) -2 1 

43.  (c) a polynomial of degree 3 in 𝑡𝑎𝑛𝑥 1 

44.  
(d)

1

10
(4 +

1

𝑥2)
−5

+ 𝐶 
1 

45.  (a) 
1

𝑛
𝑙𝑜𝑔 |1 −

1

𝑥𝑛
| + 𝐶 1 

46.  (b) P=
−1

8
, 𝑄 =

7

8
 1 

47.  (d) 
28

3
 1 

48.  (b)𝜋 1 

49.  (a)2                   1 

50.  (d) −√2 − √3 + 5 1 

 

 

 

 

 

 

 


